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OAMOlIZ X4 ols2=H| K&
150,000& = 1,5509¥ = 12& 2,790,000
BAAE 0ts2tAH X& 1,100,000 972,000 128,000
307 2Iz2to| A 1,100,000 972,000 128,000
10 ABIZEXALEE 2SI 2 X 1,100,000 972,000 128,000
E=R0ts 2tAHl X &
500€ = 8,800 x 250 1,100,000
HE HASOs A& 72,264 40,416 31,848
307 2I2t0| & 72,264 40,416 31,848
10 M SXNAEEHESIGHEX 72,264 40,416 31,848
OHN MASOHS FPNVRKE 4o 72,264
OB3MI 0Ot 46,600& = 709 ~ 12& 39, 144
O8N Ot S 23,000 « 70¥4 » 12€ 19,320
OO0t5MI 0t 23,0003 * 50¥ x 128 13,800
X009 EXSE 14,165 5,533 8,632
MASS MEoty &2 14,165 5,533 8,632
one-stop E& SAl AMHIA HZ 14,165 5,533 8,632
201 LBt 9| 14,165 4,413 9,752
01 AP 22| d| 5,050 1,298 3,752
O=2XNUA BEA/SUH XAMHA g0l
702 = 1,0000 = 10= 700
O=SXHE oY MUK YL 25 ME
1,000 = 5000H 500
O=SXIUAa ZAHAIZ22 At 2] ERF&E
= & d| 7,000& * 10Y = 5HY 3,850
02 Z2=2=24%4| 3,115 3,115 0
ORT= 3,115
oYLt 270 * 4,500 1,215
OEDI 1,900 = 1,000 1,900
03 &AL EH| 6,000 0 6,000




2N EET FASXD
Ha: NFolo =XEW
ASE MBOUF €2 o HE)
= - 4 14
SN - FE B (SH) - MRAY - BAS e &l
OSIU=X =aXN 28l 2% 4,000,0009 4,000
oLBUEHD YIS Wi 2,000, 0002 2,000
YHSYAH (SR FLUSN D) 101,434 6,738 84,696
IR 101,434 6,738 84,696
SEE 101,434 16,738 84,696
201 et HH| 54,374 7,303 47,071
01 At 22l bl 29,294 6,653 22,641
CRIE-ERS TR 1,366,0002 11,366
OB, =ZX 2 ZEMA 4,320
OB 42 =8 F=S
1002 * 2,00000 * 122 2,400
OSXNAL 7 SEH
80 * 2,0000 * 122 1,920
CRIEEENEET 13,608,0002! 3,608
02 2zl 25,080 650 24,430
OSHR3 25,080
0S92 1,9008 * 300S * 122 6,840
OBt 270 * 4,000 * 12& 12,960
owsez 1,6008 * 10021 » 122 1,920
O=SNYLFH #HEE 23
70,0002 * 404 * 122 3,360
202 01t 29, 160 8,370 20,790
01 2Lhotbl 29, 160 8,370 20,790
CBIEEF 29, 160,000 29, 160
203 YR = bl 4,200 1,065 3,135
EPECEEES 4,200 1,065 3,135
©J1F % (302101 5t) 350,0008 * 122 4,200
405 TH&HH St 13,700 0 13,700
01 AU 2B H St 13,700 0 13,700
CE-ES] 200,0002 * 1CH 200
©CIX g3t 500,0008 * 1CH 500
CEWEEEESY 13,000,000 * 1CH 13,000




N = 0l & At & Ml A

SN EET SEMIHD
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
S8 sEMZ ML 345,219 90,915 254,304
ANSFH 243 J1g 10,570 720 9,850
ANA3HM 243 &2 10,570 720 9,850
MQIE obASE J|gt £ 10,570 720 9,850
201 Let24dy] 2,420 720 1,700
01 At 2teltl 770 720 50
OXYAIMA, SIHAE, A NEHE S
g 7,000% * 2H = 55¢ 770
03 A2 S HI 1,650 0 1,650
OXMZAH0lE sESE HE
30,000& = 159 450
OJIgelgos & =3 2g3l
300,000& * 43 1,200
202 4l 1,600 0 1,600
01 =L 4 1l 1,600 0 1,600
OXYAIMA, SIHAE, P RFE oH
20,000 = 2 = 40 1,600
303 Z& 3 1,000 0 1,000
01 Z&3 1,000 0 1,000
OHEANFBEEI =2 AHA& 1,000, 000& 1,000
405 KtabH S| 5,550 0 5,550
01 HatH ESFH S 5,550 0 5,550
OHEI BANE 23 5,550
OFlg 28 2,500,000& * 14 2,500
oMz 25 (20kg) 85,000& = 104 850
OJI&¥3 20L 1,600,000& * 1M E 1,600
OAHEI BAHH 300,000& = 2% 600
e 235 27,380 ,614 23,766
Hol sEF2 16,360 ,074 13,286
A Y =AHIBAIL 22 4,100 ,049 2,051
201 Let24d] 2,500 ,089 1,411
01 At 22/l 2,500 ,089 1,411
O=gIIEtAlE E&=+=2 500,000& » 5E X 2,500
202 O4dl 1,600 960 640
01 = LH 4 1l 1,600 960 640
OsXUAAR =N
20,0003 = 2% = 40 1,600
S Mol Gl & IOol = At 2,260 ,025 1,235
201 €24 2,260 ,025 1,235
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SN BHT SESFMD
M mENE ZA 2 22
S MEE 24 2 2o (&)
SN BA(SA) - MRAY - BES il HImEET
OHt=He 2= M 5,000
Oty AY 2 38 10,000& = 50074 5,000
OL=dsl L= 2,950
ogst= 90,000& * 17%F 1,530
Ootd st 60,000 » 17& 1,020
OHlaZfE 84 200,000& = 2K 400
OUL=LINUHM=R 2F S &HI
7,000 * 2% = 135 1,890
02 =224l 12,879 4,231 8,648
O4t=E & st EHl KA 1,629
OM=EEI KXY 1,000,000& = 1CH 1,000
Ol =83t 629
-SEU(GIESR)
1,875& = 50 = 20 » 30 563
-2g 5,500& * 0.2 = 204 = 30 66
Ot=2ds2ZAIE KR
5,000& = 159 = 150 11,250
206 M= Hl 1,500 1,430 70
01 =8l 1,500 1,430 70
O4t= &l s &l 1,500
OetdB 2 58 15,000& * 1004 1,500
M 84 2 25 18,864 0 18,864
201 Let2d] 4,664 0 4,664
01 At 22l 2,400 0 2,400
OEE2E Mz (89) 80,000& 304 2,400
02 =224l 2,264 0 2,264
OMNESLHMI A=HI(ER)
1,685% » 252/ H » 30 1,264
OHE=ZH Il KAb 1,000,000& * 14l 1,000
206 M= Hl 14,200 0 14,200
01 MHZ 4l 14,200 0 14,200
OF=ZtF=ALE A 4,200& * 1,000€& 4,200
OlSLHE 2AH & LM S
10,000& = 1,000& 10,000
IAPNRSE=Xei )} 9,420 0 9,420
201 Let24d] 7,000 0 7,000
01 At 2teltl 7,000 0 7,000
OMXNINE BZIANE &5 Z20Y
3,000,000 = 12K 3,000
OREHME =20 4,000,000& = 1H 4,000
202 O4dl 1,920 0 1,920




[ 0foh

g7 sSA43 ML
g3 =48 & 2
giad =4 # 22

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 2LHOHI 1,920 0 1,920
OdXdEFIt2dH =& bl
20,000 * 2% x 48Y 1,920
405 XH&HF SHI 500 0 500
01 AL =S EF SHI 500 0 500
OCI Xl & 3+l 2t 500,000& * 1CH 500
2 22| 172,511 61,432 111,079
101 @121l 14,381 0 14,381
04 JI2ZtH2Z2XNEE S 14,381 0 14,381
OJtzs22 o2 14,381
oogy 50,000& * 2% * 262 * 52 13,000
OMBIEE S 1,381
-AUAEEREE =2 13,000,000& * 2.995% 390
~AI)QABEHEEHS 390,000& * 6.55% 26
=032 EE 13,000,000& * 4.5% 585
-18EE 13,000,000& * 1.5% 195
-MHHE S 13,000,000 * 1.42% 185
201 et A | 2,200 1,000 1,200
01 AFR2 2t 2l Yl 2,200 1,000 1,200
O&HI A2 (JI2 4 0]4l)
550,000 * 1CH * 43 2,200
206 M = Hl 570 0 570
01 & bl 570 0 570
oJzx2eig 22 (2N 2 28)
570,000& * 14 570
401 Al Bl 20 HI 151,080 60,432 90,648
01 A& HI 150,000 60,000 90,000
OTL2H 24 SXNMHAWHE =4)
15,000& * 7,000 105,000
OE2H JIZ2Zzx SXMH(SHALH)
15,000& = 3,000 45,000
03 A& 20HbI 1,080 432 648
OJt24 22| A&
150,000,000& * 0.72% 1,080
405 XtakF SHI 4,280 0 4,280
01 A&t = S F SHI 4,280 0 4,280
o2 +7¢Y 4,280
Os81kas 950,000& = 2CH 1,900
Osgs 840,000& = 2CH 1,680
Ol F I 350,000& = 20K 700
= XA & 22 41,384 0 41,384




ECD SEMBHD
MEXE =4 Y 2el
AT EA Y 22 o HE)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
101 124 dl 33,184 0 33,184
4 D12t Z2XREES 33,184 0 33,184
OBRANRR LY
50,000& = 6% = 100 30,000
OAMABE = 3,184
O=0AdLEE 30,000,000& * 2.995% 899
OFIILEE= 899,000& * 6.55% 59
O30z EER 30,000,000& * 4.5% 1,350
OnssEgs 30,000,000& * 1.5% 450
Ot Mol 242 = 30,000,0008 * 1.42% 426
201 €82l 1,500 0 1,500
01 At 22l 1,500 0 1,500
OBUZY TR U 9I3F)
1,500,000& * 14 1,500
206 M= Hl 1,700 0 1,700
01 =8l 1,700 0 1,700
Q=23 H = 1,700
ORJI& Hl= 7,000& = 1003 700
O=gtl = 20,000& » 50 1,000
401 A& HIZ 201 I 5,000 0 5,000
01 A& HI 5,000 0 5,000
OJrzstet Z2HI &X 5,000,000& 14! 5,000
HHR2HZH(EE2E MRS 40,871 7,905 32,966
Jl2Z3l 40,871 7,905 32,966
JlE&l 40,871 7,905 32,966
201 Let24E] 17,471 3,885 13,586
01 At 2t 2l 14,672 3,274 11,398
OJ=ZHl(=S&l) 7,560,000& 7,560
OYgR+edE&s Jl=3Hl 7,112,000& 7,112
02 =224l 2,799 611 2,188
OSSUARYLEE 2B 2,439
OsJl 1,900& » 600 1,140
Og Bt 270 = 3,000 810
Osolers 1,630& » 300 489
OF==JIs A2z BHuw& 60,0008 * 63l 360
202 od4dl 16,200 2,970 13,230
01 = LH o4 1l 16,200 2,970 13,230
OJlEgl 16,200,000 16,200
203 YR =] 4,200 1,050 3,150
04 EA2ZYRFN 4,200 1,050 3,150




2N EE SEMFHID
HH: HHSYHU(EHTE ZHDSD)
chelr D123l (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
©J| & X (302! 0I56t) 350,000& » 1200 & 4,200
401 AIEBIZ 2018 3,000 0 3,000
01 A& Bl 3,000 0 3,000
OMSA WA 2t80] A X3 A

3,000,000& 3,000




N = 0l & At & Ml A

SN B HRD
M XA 2el
ol MaE UM 2t CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SE83 N2 543,018 533,227 9,791
ANEA 2el 482,991 513,392 A 30,401
e JgM 2 276,772 300,811 224,039
N 20 &2 =8 276,772 272,648 4,124
101 1A bl 4,607 1,013 3,594
M4 JI12ZHZEXNSES 4,607 1,013 3,594
OXNYASH L HUA ZHIZ A 4,607
OZAME oI2Y 45,2303 * 2% x 46 4,162
O30z RES 4,162,000& = 4.5% 188
O3B E 23 4,162,0008 * 2.995% 125
OWIAEEE FE=  125,000& * 6.55% 9
CLnE2EE 2E=3 4,162,000& = 1.5% 63
Qa2 4a BEEZ  4,162,000& * 1.42% 60
201 L2l 270,649 229,107 41,542
01 At 22l 80,364 64,491 15,873
OXNEAHRU 2 =& 48,233
OXNSIM DA 72,6003 * 324Kt 2,324
O&Jl& 1AXA 72,6003 * 3304k At 23,958
O=AN23XAM 72,6003 * 304Xt 2,178
OXtgE 1DXA 72,6003 * 614Xt 4,429
OM2=+=g DXAM 72,6003 * 364Kt 2,614
Otz 8,400
-XEAESeHHE 100& = 36,000& 3,600
-OEL et 100& = 48,000 4,800
OE2& M 100& = 35,3000H 3,530
OU=& M 100& = 8,0000H 800
OXNEMNRU dRFA 425 P 10,115
O=AMEX 21,000& = 1154 X%t 2,415
O&EH 220,000& = 3504 7,700
OXgAM & 16,316
O&JIIZ2 NEAM 2= HA
230& * 8,000% * 43| 7,360
O =9 Mz 80,000& * 73l » 11004 6,160
Og2teE M 33,000& * 43 = 1844 2,376
OB Dl M& 30,000& * 73] » 2044 420
oRUE=EI 2BE 5,100
O&EH 500,000& = 74 3,500
OFH 800,000& = 24 1,600
OXZA s HJ/8E 50,0008 * 128 600
02 =224l 190,285 164,616 25,669
ORERIB(&HI,=Al, GFUHES) 188,605




Al 2 1t
2t
INR= ) [

0z > 0lo
JoroZ )@

o == 4

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
Ogegt 2703 = 520,500 140,535
Ol 1,900& = 25,3008 48,070
OH#F AR EHl S AHI 1,680
O&E R = AL 939,450 * 204 = 8% 151
OosEssgl 16,870,000& = 8% 1,350
O2M MEII 768,000& = 108 ~ 8% 62
O& 37| 1,459,000& = 1CH * 8% 117
202 oddl 1,516 728 788
01 = LH 4 4l 1,516 728 788
OXNEHNEHSE AZS Ul
75,8003 * 5 x 2 « 23| 1,516
SsH HgH A= 206,219 212,581 N6,362
NEA MeEH 5 A5t 206,219 187,731 18,488
201 £B-2E| 158,187 137,730 20,457
01 At 22l 50,867 32,120 18,747
OXLN HMEE+HR =8 40,780
OMeg DXNAM 72,6003 * 1804t Xt 13,068
o= 1OXNA 72,600 * 704Xt 5,082
Oz ¥ o= 72,6003 * 504t At 3,630
O3l Mg ===
600,000& = 10024 * 25% 15,000
OHIIEEH =2 1,000& = 2,00004 2,000
OMEX tlzxal =8
2,000& = 1,000A 2,000
OMgd SEg8dx=II2t L 5,212
O8g=+9% 80,000& = 43 = 114 3,520
Ot 33,000& = 43| » 11004 1,452
©]:[ =) 30,0003 * 43 * 204 240
OMEEs FFE A2F P 4,875
OxZgd EH 220,000 = 1504 3,300
O=AEX 21,0003 = 754Xt 1,575
02 =224l 107,320 105,610 1,710
oO0z22= & HA 107,320
OBt 2703 = 330,000 89,100
OS2l 1,900& = 7,0008 13,300
OME2el POA AHEZ
40,0003 = 200 » 12& 960
OHsH IXAAE RXE 2
330,000& = 123 3,960
202 Odl 3,032 0 3,032
01 = LH Yl 3,032 0 3,032
o=Aueg =0l 75,800& * 4H * 10 3,032




2N

X{ XH -
S =

ool SEH0 MY 4 CREED
= _ — d =
HE - B (3H) - KISAY - BYS e 2
303 Z& 3 45,000 50,001 A5,001
01 243 45,000 50,001 25,001
(OFSECFEURNE= 45,000
Q20128 & 01 = 340,100,000& * 5/100 17,005
o20139 &= =2 350,350,000& * 3/100 10,511
o204 & & 1,748,350,000& * 1/100 17,484
HE2LAIH(ELT2AHMRL) 60,027 19,835 40,192
2l 60,027 19,835 40,192
=&l 60,027 19,835 40,192
201 2et24d] 22,810 7,340 15,470
01 At 2teltl 22,810 7,340 15,470
OJlegRsdas 9,694,000& 9,694
OJl=ZHl(=2&l) 12,096,000 12,096
O3 A Fl 1,020
Oolas 3= wi 60,000& * 4& = 23] 480
oplgols FWAXTY
9,000& = 58 = 12& 540
202 O4dl 30,720 11,370 19,350
01 = LH o4 1l 20,520 7,290 13,230
OJIE&l 20,520,000& 20,520
02 M0 10,200 4,080 6,120
OMEANZ E= 20|
170,000& * 5& » 128 10,200
203 ¥ S =&l 4,200 1,125 3,075
04 FNSEHR=LH 4,200 1,125 3,075
©J| & (30210l38t) 350,000& = 12& 4,200
405 RHoHF S HI 2,297 0 2,297
01 AL EZFH S 2,297 0 2,297
OCIXI €30l et 500,000& = 2CH 1,000
OHICI 23t 2t 1,000,000& = 1CH 1,000
o e 99,000& * 30K 297




N = 0l & At & Ml A

2N BT BAAMD
MM U WRE OIEUS TAIEHE T4
ool WS MEHY T4 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
EQP AN 4,356, 166 555,248 3,800,918
N RS OlELR SAIEE =4 919,723 528,908 390,815
WS MEEHE XA 795,721 467,644 328,077
HeEss =8 26t 3,270 17,494 AN 14224
201 et d| 2,070 2,830 AT760
01 AR 22l ] 2,070 2,830 AT760
oOXNENMEE EE= 100 * 15,0000H 1,500
OMEEZE =& 2EI|A I 2H| 570
ogst= 100,000 * 39¥ 300
O=22E 90,0008 * 3H 270
202 044 1,200 14,664 N 13,464
01 2L Hl 1,200 384 816
OHEZS, HYEDN 28t SHOH Y|
30,000& = 2% x 20¢ 1,200
MDDl REED] 2R 20,882 40,050 A 19,168
201 gEt24dy| 9,082 20,850 N 11,768
01 AP 22| d| 4,330 16,530 N 12,200
O=YHEIYUX EE= 4,050
oMl Ss¥€ED oo
35,0008 * 1SS = ~ 1004 3,850
OZAlIHHI 2 2 DT 20,000 = 104 200
OSHEE ANEH Tl 23
70,0008 = 44 280
02 2=2=24%H| 4,752 4,320 432
OZAIZtNI2H 3l AlE2
36,000 = 113/ & = 128 4,752
202 04| 1,600 0 1,600
01 2L I 1,600 0 1,600
OMY DI SYED FHAEX BH
20,000 * 29 = 40 1,600
301 LBt A= 1,200 1,200 0
11 JIEtE A2 1,200 1,200 0
OZAIDIHCIE X HII=2 AEAZ(AEH)
10,000& = 10CH *~ 12& 1,200
402 BI2H X 20| M 9,000 18,000 A9,000
02 OI2HCH &4 AF S HI 9,000 18,000 A9,000
O2AIIIHet X RE ==
450,000& = 1004 * 23] 9,000
bt A 2 MY D =& 28t 771,569 394,150 377,419
101 e1214| 43,532 73,644 A30,112




2N BT BAAMD
M 9 JHRE OISLE2 TAEE =4
el BMEE MEBHY Z4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
4 D122 E2XREES 43,532 73,644 230,112
Ostd&cld ALLDAl X&R 43,532
ooy 68,8003 = 2% * 262 x 113 39,354
OAHLE2EIREES  39,354,000& * 2.995% 1,179
OYINQYEBERREZ
1,179,000& = 6.55% 78
OI0HAZRES 39,354,000& * 4.5% 1,771
CnEZEz2E3 39,354,000& * 1.5% 591
O EAESEESRE S
9,354,000& = 1.42% 559
201 Let24E] 313,217 278,506 34,711
01 At 22l 13,189 11,338 1,851
OFAHZYER = 684
Oxgd 2L 4,000 * 3&H * 27(H 324
OM 2+ DX A 90,0003 » 48t~ 360
OUEHIIE s=RdH Mz 88 EUY
-+ 220,000& = 3K 660
OUEHIIE MES 100& = 25,0000H 2,500
OUEHIIE AEHY ZH =22
150,000& * 128 1,800
oOMYIl RASE B EXT
1,000& * 25004 250
OMeldl =H HE AEAH 100& = 5,0000H 500
OSZ2ACJAZTNEY ME2FSE
15,0008 * 15 = 12& 180
OogZacld AHENFLA =F
120,000& = 1H « 23| 240
OMYZHIIES HMeldl 150,000& » 10 1,500
OFAXE ZII22A S &I
7,000& = 3% = 135¢ 2,835
OgZ2Lld s=SZ20Y MES
170,000& * 128 2,040
02 =224l 300,028 267,168 32,860
OFALZLSE FUE MER
100,000& » 104 = 128 1,200
OO0IEX BEE8& 50,000& * 1CH 50
OLHIEAX] 2223 12,714
CHIlez Jles 6,990% * 60kw * 12 5,033
OdIIgs == 743 * 2,000kw * 128 1,776
O3 1,860& » 100€ * 128 2,232
Oot=Ee23 1,120& = 100= » 128 1,344
O3tz ELR3 30,000& « 13l 30
O4s(3lH)
1,368& = 8AIZ2t « 200 * 105 2,299




SN BHT SN
M 9 JHRE OISLE2 TAEE =4
Sl HHE MBHY X4 CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
FEESEREESIELT
70,0003 = 3CH = 43 840
O&HEAXE 22 28,724
OFIIAN 228 25,0008 « 28TH 700
OB82AN 248
(61,0002 * 17CH) + (53,000€ * 110H) 1,620
OZEgEE stsxt e 850,000 * 17CH 14,450
Osg:2d st=x &8 550,000& = 11CH 6,050
O33N = 137,870& * 1804 * 23] 4,964
OFEHEINA HAEI HA =2
400,000& * 2CH 800
OFAEY A E SB=ZEX NSIHA
70,000& * 2CH 140
OFAFHI (X&) = X 9,500,000& * 2704 256,500
206 M= Hl 26,020 20,800 5,220
01 =8l 26,020 20,800 5,220
OFLEI(FUE) =2 22E(HIF2 95)
10,000& * 624 620
0s2%@ FXs 7*¢ 300,000& * 2074 6,000
OLHIAX] ABES 500
OLHEATD YAAEF 2
5,000& = 100€& 500
o3AEEFY 7,500
Otidl 2 98 50,000& = 105 = 12& 6,000
OJs 4Z+=HE 0t 30,0004 * 503 1,500
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el Ezzel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXEES 234-181 X L@ 01222 Ul S AH(L=
60m, B=3m) 20,000, 000& 20,000
ONZ2S 134X Y& =2 EZE I AH(L=150m, B
=3m) 100,000, 000& 100,000
OFLE 1748 X Y& =2 EZE I AH(L=140m, B
=3m) 30,000, 000& 30,000
OJdES 224581 X L@ =2 X E S AHL=100m,
B=3m) 20,000,000& 20,000
ONMES 178 T2 X3 AH(L=100m, B=5m)
80,000,000 80,000
OFULAAY AASH B
1,290,000,000& * 3.19% 41,151
03 A& S THHI 4,644 0 4,644
OFQU=JAY =& AIZ=20HI
1,290,000,000& * 0.36% 4,644
28 KGRI AL 213,023 1,027,624 A 814,601
401 Al HIZ 201 I 213,023 1,027,624 A 814,601
01 A& HI 211,500 1,021,800 A 810,300
OtlESS 28-20H X AHE AX 12,000,000& 12,000
O2US 40-18H X L&A th+==Z & Xl (L=240m, B
=4m) 70,000,000 70,000
OFLs 2108 X X &X(14])
10,500, 000& 10,500
OFLS 1992 X HI &AXI(14])
10,500, 000& 10,500
OF2s 3528 X X &X(14])
10,500, 000 10,500
o2& S 1267~1463H X A A A W (L=350m)
30,000,000& 30,000
OZ4t& o= FH 3 AH(L=130m,B=2.5m)
20,000, 000& 20,000
OMEESsW AT BAHANE E
13,000, 000 13,000
OXss 231-281 X 4@ ==X & (L=350m, B=3
Om) 20,000, 000& 20,000
o8 ds 1008 X HX &X(14])
15,000, 000& 15,000
03 A& =TI 1,523 5,824 A 4,301
OAA2 XNIEINRIIAY =& AR
211,500,000& = 0.72% 1,523
g 2 AdE |Fl2e 589,410 2,208,350 A 1,618,940
201 L2l 96,780 57,420 39,360
02 =224l 96,780 57,420 39,360
OCCTVald & Salald AIEZE 10,800
OXlot Xt = 200,000& = 128 » 104 2,400
OJzZ+Z Eu  300,000& = 128 ~ 1A 3,600




FN: BER LS
E: NARALBAS TAIIUES
el S22t (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OSEti="IZE 200,000& = 128 ~ 1004 2,400
Ot Si+=EZZE 200,000& * 12&8 * 10HA 2,400
OLBES MABR 720
Odtz+Z |1 60,0002 = 128 * 104 720
(OFSPIETE=, 55,560
OXlotxt = 1,850,000& = 12&8 * 2004 44,400
Otz |1 30,0003 = 128 » 1002 360
Olisu 300,000& = 1238 » 10 3,600
SEM=EZZE 300,000& * 128 * 10HA 3,600
Ot S+=8ZZE 300,000& * 128 * 104 3,600
odJ|gtM e 2 (LEMHEI RIGHAT)
700,000& = 123 8,400
O0s&J | 21,300
OsdJl @2 & FANEF EY =8
1,100,000& = 12& 13,200
Osd)ll & === 150,000& * 6IH & 900
OsdJl 489 =2 600,000& 122 7,200
401 A EHI L2 O 492,630 2,150,930 A 1,658,300
01 A& HI 490,110 2,138,000 A 1,647,890
ORTFUI(ANSY 2 SHF2ACIUHLAE) 55,000
OHBDIEXotAE 2 4L SLEZES
55,000,000 55,000
OJIEIAIE & & AWg FHdl 88,000
OA72 2ng UFASA
20,000,000& 20,000
odJIEH(23l) 18,000, 000& 18,000
OsXNE=+ 50,000,000 50,000
OANSEY 2 SH2AUMAES FIIHEFH 2(
ArekDl) 20,000,000& 20,000
OANSEY 2 SH2UMAIES FIIHEFH 2(
Stekol) 20,000, 000& 20,000
ounz A A2 FANES 150,000, 000& 150,000
Odln BExE22 At 167,110
O& A& A 150,000,000 * 4.74% 7,110
O3 AtdI 150,000,000 160,000
03 Al 2 0HHI 2,520 12,930 A 10,410
Ooug & AMES FANE= AE20H|
200,000,000& = 0.72% 1,440
O4tH 2223 A AIER0UHI
150,000,000& * 0.72% 1,080
AgddD MHIIESAHIAHMIS DEEY) 644,032 503,600 140,432
401 AIEHI L 20 644,032 503,600 140,432
01 A& HI 640,000 500,000 140,000




FN: BER LS
M NADSELHERAS TAIDJIBIESH
el Ezzel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
(OFME=Sia] 640,000
OMY &L MItE S AH(L=70m, B=8.0m)
640,000,000 640,000
03 Al 2 0HHI 4,032 3,600 432
ON&EdW ML SAL AIE R0
640,000,000& = 0.63% 4,032
Mk - THollel M=Z3st 28 617,115 473,624 143,491
Mt - THoH ol 79,194 59,122 20,072
Mt 2 THoH 22 79,194 59,122 20,072
201 L2l 61,270 10,874 50,396
01 At 22l 2,230 1,398 832
Olt2el 22 9 80,000& = 63l 480
OTHOHCHH BI&AZ2 S X SAHI|
7,000& * 3¥ » 50 1,050
oOMHESeaess 22T S|
7,000& * 2% » 50 700
02 =524l 59,040 9,476 49,564
ONM&ZH BE8s(EdH Jdlold)
400,000& = 59CH 23,600
OEYH KRR
100,000& * 53 = 0.6 » 59CH 17,700
O & ol TH 2 & Hl ==& 4l 17,740
OM&g ZefjamI|+el(100H)
10,000,000& 10,000
Oue| 722 1,000,000 1,000
O=&MU 1,685& = 204 = 203l = 10CH 6,740
206 M= Hl 5,794 5,794 0
01 =8l 5,794 5,794 0
OTHOHCHZ & Xt TH 5,794
OPPZH 287& * 5,0000H 1,435
OE0tH 13,000& * 1000H 1,300
(OFSEPN| 98,000& » 108 980
OFs= 28,000& » 1023 280
o= 5,000& = 1504 750
Ooe2=2g M 40,700& * 158 611
Oodld 29,1504 » 158 438
401 AIEHI L 2 CHYI 12,130 42,454 A 30,324
01 A& HI 12,000 42,000 30,000
OMAASE X AN 12,000
Oth=8Z& SX 2=
3,000,000& * 23| = 204 4 12,000
03 Al 2 THHI 130 454 A324




2N

X{ XH -
S =

el

et - XHoH_J Mz3g 2s
T - THoH ol gt

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMHAE XN HLESAH =&
12,000,000& = 1.08% 130
Ot& - HH=AlE JH& 537,921 414,502 123,419
ot Hdl ¥ ®X 2l 136,473 259,272 A 122,799
201 LB-2dH| 18,605 3,300 15,305
01 At 2t 2l 15,100 3,300 11,800
Odtd ¥ EA HMAH FHE ZEHIYXUZ (24D
) 550,0008 * 104 » 10 5,500
Odtd XNEEEE g S
800,000& = 1CH = 123 9,600
02 =224l 3,505 0 3,505
Oxg K=l 1,685& * 84 = 260 3,505
202 oddl 2,040 0 2,040
02 M| 2,040 0 2,040
osgdH= 170,000& » 1H » 128 2,040
401 AIEHIZL 2CHEI 115,828 255,972 A 140,144
A& HI 115,000 255,000 A 140,000
Ootd KA 2CIAY 100,000, 000& 100,000
O=S4MH OLEYOIIIE & watu2t A X (L=60m
, H=1m) 15,000,000& 15,000
03 A& S THHI 828 972 A144
Ootd Edl & |X2cl AIE20Udl
115,000,000& * 0.72% 828
AotE ZHIALY 80,720 0 80,720
401 Al HIZ 201 Y| 80,720 0 80,720
01 A& HI 80,000 0 80,000
OAictd K2+ 80,000,000& 80,000
03 Al S THHI 720 0 720
OActd RAE= AIE20UH
80,000,000& = 0.90% 720
Bh==Ald &EHl ¥ SXl2te) 320,728 155,230 165,498
401 AIEHI L 2 CHYI 320,728 155,230 165,498
01 A& HI 318,532 154,120 164,412
oOtsot=& Edl & sX2ecl 100,000,000& 100,000
OXMHE S 183481 X L& ot== SIHIAH(L=17
Om, W=0.6m) 40,000,000 40,000
O8Ys 52-6HX LA =2 & XIS AH(L=110m
) 30,000,000& 30,000
OJXtd &S 0t2ot=% AUl 3 AH(L=150m, D=800mm
) 110,000, 000& 110,000
OZUH Ciztiel =2 &l S AH(L=100m)
30,000,000& 30,000




2N

(o

N

T ALuns

g IOH'; MHottel M=zZst &
ol GtE - = AE A (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIZS I2ot+ < FUIBA @ 2HE B
& Al A Y| 180,000,000 * 4.74% 8,532
03 A& 2 THHI 2,196 1,110 1,086
Obtsdt== &dHl & =sXA2cl AE2UHI
100,000,000& * 0.90% 900
OJt& = OtSot=5 FUISA 2 2L SAF
& AE S 180,000,000& * 0.72% 1,296
HH2AZH(ELE R HEWED) 257,857 16,225 241,632
ol 2 gl 184,628 0 184,628
ol Al 184,628 0 184,628
101 @14 Hl 184,628 0 184,628
03 RIAHAZZ T E =+ 184,628 0 184,628
okzE=+¥ 178,548
od=s(It=2) 100,310
219 Xt 30,440,000& * 1H 30,440
-1E Xt 23,940,000& » 29H 47,880
-84 Xt 21,990,000& * 1H 21,990
o= 30,902
-IEsg 3,840
i < Xt 40,0003 * 4% x 123 1,920
=Hl5 20,0003 = 8Y ~ 123 1,920
RS 100,000& » 19¥ » 128 1,200
—HEZE2sE
8,950 * 20AI2F » 49¥ » 123 8,592
-ort22g
8,950 » 150% » 10Al2+ » 49 » 128 6,444
-FE2f=xE
8,950 * 10AI2t » 49¥ » 123 4,296
G PNE S
29,790,000 / 3652 » 494 x 20 6,530
OXtHE = 3,584
-Nsed 448,000& = 43| » 29 3,584
OFE S 0tHI
29,790,000% / 12& * 60% » 49 * 23] 11,916
OzZ2s+¢
29,790,000 / 128 « 10% = 4Y » 12& 11,916
OIJtA X &bl 175,000& » 4H » 128 8,400
O=&l 120,000& » 49¥ » 128 5,760
Oul SH| 120,000& * 49Y » 123 5,760
OR &I Xzl 500,000& 49 2,000
OEz=E+3 IS 1,000, 000& 1,000
o223 E2X =4l 3,080
Oz Hel 7,000& * 48 * 60 1,680




A EER HAEDNED
HH: HHSYPL(EHT AEDED)
chel: ol 2y (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
| | O TN oH CH =4 7,0008 * 4% x 50 1,400
Jl2&Hl 73,229 16,225 57,004
Jl2 &4l 73,229 16,225 57,004
201 et 49,049 8,425 40,624
01 AP 2t 2] d| 37,934 5,650 32,284
©J|=dHl (S&H|) 8,568,000& 8,568
OJl2gess SsAHH| 11,366,000 11,366
O&EHEAZTZ2)H(EST) 2L
3,000,000& = 24 6,000
O&AHE cADE= & 2 4,000,000 * 34 12,000
02 Z22%H| 11,115 2,775 8,340
oRHER2 11,115
oggt 2703 = 10,0004 2,700
OS2Il 1,900 * 4,000 7,600
OSJI2H Bt 1,630& = 50024 815
202 044l 17,280 6,750 10,530
01 2L Y| 17,280 6,750 10,530
OJ|&=Z& | 17,280,000& 17,280
203 SR F & 4,200 1,050 3,150
04 EASHEIRFAH| 4,200 1,050 3,150
©J|&=M (30021 0]6}H) 350,000& ~ 12€ 4,200
405 XHAHFEIEHI 2,700 0 2,700
01 AL 2B F S| 2,700 0 2,700
OCIXIE2t0l 2t 500,000& = 1CH 500
o2& 400,000& * 1CH 400
O & X Z0| 300,000 = 1CH 300
(OFSF=p] 1,500,000 * 1CH 1,500
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SN BER ASD
Za: ASHY AA G
Sl BEHS NTHS

SA BB O () - MM - HES 0l &+ o4 il
Oou 20,000& = 104 200
O8l+2dHAHE () 175,000& * 54 875
O8=2Y%MHE H(B) 50,000& * 54 250
O8l+2dHHE () 25,000& * 5K 125
oz 5,000& * 304 150

307 glz2+ol & ,360
05 RIZt2lEt = ,360
OsgZNsE FL3H &9
5,000& = 4Al2t = 821 » 82 * 128 ,360
CEA Y EHAAEIE HS ,204
201 L2l ,624
01 At 22|l 124
OLdAXE HII==E
54,0003 * 4m 43| 864
OL-&4XXES Ml&EH Xz (KAL)
450,000& = 1 = 43| ,800
OSHL-ZY HH(SZEHMI S) ,360
Osx¢ 80,000& = 120K 960
O=ZNM3) 8 SEHS S 2
7,000& * 60 » 20 ,400
OSEL-Z& HE=A S|
7,000& = 3% = 100 ,100
02 33224l 500
OHERA 4= 500,000& = 1 500
202 odl ,160
02 WO ,160
OL&& =@ WA
170,000 » 494 » 128 ,160
206 M= Hl 3,420
01 M= tl 3,420
OsY && a4XI= Edl JINM 2,010
O NRIE A 4,000& = 300=% ,200
OdlE (Or2tSgHx) 30,000 * 54 150
(OFSg Y] 10,0002 * 54 50
OFPN; 40,0003 = 404 160
Oos 15,000& * 28 = 304 90
(OESTIE! 15,0002 * 44 60
O&2 EHDI 150,000 = 2J4 300
OsZMa) RHAEH =22 IJINM ,410
O Xt 10,000& * 604 600
o= 8,000& * 60JH 480
oYY dss 15,0002 * 1074 150




2A: EER ASY
Mo AZHEY A4 5
ool 2YHe NEos QEA)
- _ _ RE!
SN BA(SA) - MRAY - BES e 2
| | | PEEET] 3,0002 * 60N 180
HHSAAL (ECR AZD) 38,842 10,799 28,043
Jl=&H 38,842 10,799 28,043
Jl= A 38,842 10,799 28,043
201 YEt2AH) 26,572 6,239 20,333
01 AL 22/ H] 18,424 4,692 13,732
PRS- == 8,344,0002 8,344
OJI=ZHI(SHI) 10,080,0002 10,080
02 2z=29| 8,148 1,547 6,601
ozZzZ29| 7,164
OsJesz 1,6302 * 100S 1,956
=Pl 1,9008 * 200E 4,560
Oget 2708 * 200 648
OH#FALEE S bl 984
OF XK= AFDI 5,000,0009! * 2CH * 8% 800
OLIEpI 2,300,0008 * 1CH * 8% 184
202 04 Hl 9,720 3,510 6,210
01 2L 04t 9,720 3,510 6,210
CPIEET] 9,720,0002 9,720
203 € R =&Y| 1,050 1,050 0]
04 EN2I AR =T 1,050 1,050 0
©JIZ=AHI(309 015t) 350,0009 * 128 1,050
405 RHAHE S H 1,500 0 1,500
01 HALSESSH) 1,500 0 1,500
O MM 500,000 500
OWRD 500,0002 500
OXZH A 200,0002 200
o=2%D 300,000 300




